


COMPLETA CON IN - ON - UNDER - BEHIND - IN FRONT OF

THEWREATHIS............... THE CHRISTMAS TREE IS

STOCKING BOX vevveeevaennenann. THE REINDEER

SANTACLAUS IS............... THE THE PRESENTS ARE............... THE REINDEER IS................. THE

CHIMNEY THE TREE

THE SNOWMAN IS.........oii. THE GINGERBREAD MAN IS SANTACLAUS IS............... THE

THETREE:S = vassevmessaesssmmm THEHOUSE  SLEIGH







HOW MANY? (SEGUI LESEMPIO, AGGIUNGI S PER IL PLURALE )

THREE WREATHS
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STOCKING







RISPONDI CON YES, IT IS/ NO, IT ISN’'T

IS ITAHOLLY?

IS IT ACHRISTMAS BALL?

IS ITAPRESENT?

IS IT ACHRISTMAS BALL?

IS ITAWREATH?

IS IT AGINGERBREAD MAN?

IS ITASTAR?

IS IT AREINDEER?
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CHRISTMAS CROSSWORD
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